
第4問
テーブル「SHOPLIST」に登録されているレコード
SHOPID(NUMBER) SHOPNAME(VARCHAR2(20)) CITYID(NUMBER) LANK(NUMBER)

1 有楽町店 1 1
2 御徒町店 1 2
3 桜木町店 2 1
4 鶴見店 2 2
5 大宮店 3 1
6 川口店 4 2
7 船橋店 5 2

※主キー「SHOPID」

実行するSQL
SELECT
  *
FROM
  SHOPLIST
WHERE
  LANK = 1
AND
  CITYID = 2

取得されるレコードのセットは以下のいずれか？

（1）
SHOPID SHOPNAME CITYID LANK

1 有楽町店 1 1
3 桜木町店 2 1
4 鶴見店 2 2
5 大宮店 3 1

（2）
SHOPID SHOPNAME CITYID LANK

3 桜木町店 2 1
4 鶴見店 2 2

（3）
SHOPID SHOPNAME CITYID LANK

1 有楽町店 1 1
3 桜木町店 2 1
5 大宮店 3 1

（4）
SHOPID SHOPNAME CITYID LANK

3 桜木町店 2 1


